Pre-Calculus







Name ____________________
Review – Unit 6


**THE ENTIRE TEST IS CALCULATOR FREE, therefore, this review sheet is also calculator free!

Find the exact values of the following.   If the answer is an angle, state the angle in RADIANS. (NO CALCULATOR)
1.  tan(cos-1 1) = _____

2.  cos(tan-1 1) = _____

3.  cos(csc-1 (-2)) = _____

4.    tan(sin-1 ½ ) = _____

5.  cos-1 (cos [image: image2.png]


 ) = _____
6.  sin(sin-1 2) = _____

7.     cos-1(cos 0) = _____

8.  tan-1 ([image: image4.png]


) = _____

9.  cot-1 ([image: image6.png]


) = _____
Use your general knowledge of trig and IDENTITIES to solve the following (NO CALCULATOR).
10.   sec 20° sin 70° = _____

11.  Given sin α = [image: image8.png]


 and [image: image10.png]L
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 .  a)  cos [image: image12.png]


= _____










b)  tan α = _____

12.  Simplify:  csc(-x)sin(-x) 

13.  Simplify:  tan[image: image14.png]


sin[image: image16.png]


 + cos[image: image18.png]



Find the exact values of the following (NO CALCULATOR).

14.  cos(sin-1 (-2/7) = _____

15.  sin(tan-1 ¾) = _____

16.  cos(sin-1 2/x ) = _____

Prove the following identities (NO CALCULATOR):

20.  sin x + cos x cot x = csc x



21.  sec x – cos x = sinx tan x



22.  (1 + sin [image: image20.png]


)2 = 2(1 + sin [image: image22.png]


) – cos2 [image: image24.png]





23.  cos4 x – sin4 x = cos2 x – sin2 x


24.  [image: image26.png]1ttanftcsct

o 5inf + cos6 + cot6



   

25.  tan x (sin x + cot x cos x ) = sec x
Solve the following equations (NO CALCULATOR):

26.  sec x + tan2 x = -1


27.  4cos x sin2 x – 3cos x = 0

28.  2cos4 x – 3cos2 x + 1 = 0
Graph the following trig functions (NO CALCULATOR):
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29.  y = 2sec x + 1





30.  
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